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HNERE

TH%4 | R6 - 7 HEiE KEMXKEGHHEGREZ0 6 TH
LHFXSy - LfE - fljl A B & & B # il ) B
1H ok B = 1 112,770, 230
HELT Y 1 36, 696, 434
PEHI T Y 1 474,180 | #EH! 1, 400 m3
+w WA
BEAARRE LT =X 1 35,447,900 | BEIA (FE42) RE + 10, 600 m3
L4
b 1 7
T CEBL- ERIRY &) ;
A (b=27) 1 =K
L4
B T Y 1 774,354 |VEEIET (L) 1, 790 m2
M R T i 1 61, 509, 696
BT =Y 1 57,034,100 | A7) -fii#P 13 w
600kN/m2 tA/bREMEA (FegkH)  HUfR 200
Omm I E 27m HiFE26.5m ;
A7) -$ R 6 %N
500kN/m2 tAv/bREMEA (FegkH)  HUfR 200
Omm #T&E 11.8m HiEKl1l.3m ;
A7) -FE R 52 A
100kN/m2 iV RE LA (Frgk M) Fifk 200
Omm #T&E 13.6m HiEK13. 1m ;
A7) -FE R 15 A
100kN/m2 iV RE LA (Frgk M) Fifk 200
Omm #T&E 11.8m HiEK1l.3m ;
A7) -$ R 5 %N
100kN/m2 trvhRE LA (Frgk M) Fifk 200
Omm FT&E 11.4m #iE10.9m ;
VAR AN T = 1 4,475,596 |fxiER%+ (D) 2,200 m3
L -27) 1 =
L4
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TH4 | R6 - 7 LEE KE#MXKKHHBEGKEZO6 TF

THEXS - T - FER - va ¥ = & Hm a1l N 3
VTR 1,208 H (e - i) 2,800 m2
EA=800kN/m T A& 2.66% ;
VATIAAY 3EH (i X) 2,720 m2
EA=100kN/m OV A& 2.66% ;
B e Ak E 1 2V
FGan Y 1 14, 564, 100
THHEKT Y 1 5,500, 950 | EEkAR 1 W
22X 1,524 X6,096 (mm) & - ;
AREET = 1 9,063, 150 | 23 iH % E i B 1 2V
RS 2V 1 112, 770, 230
Il R Y 1 21, 274, 100
Il R Y 1 10, 065, 100
TE = 1 8,917, 000 | T ZEFRAMAR Sy MRAH ST iy 16 2 1 =
TR = =20t ;
Tl B AR ) R RN B 6 1 2V
RIBIRALFE (27)-3)
IRER B S 1 2V
B gy Y 1 66, 100 |JE ¥ hEs% B MEIERE 1 =
AAMm b HER B 1 2V
Bl RIEWER (FE L) Y 1 1, 082, 000
Il (it L) Y 1 11, 209, 000
il T Y 1 134, 044, 330
Bl H e 2V 1 41, 256, 000
T =5 =Y 1 175, 300, 330
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THE4L | R6 - 7 EEE KEHXKEKGHARGEZ0 6 T.%
THEXS - T - FER - va ¥ = & Hm a1l W 3
— R B 2V 1 27,899, 670
T =AM Y 1 203, 200, 000
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